	P	LANT ENT	ERPRISES PROD	UCTION		
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood					cords	
Pulpwood (Total)				908		
Saw Timber						
Hardwood				25,591	board feet	
Saw Timber (Total)				25,591		
Total Pulpwood, Chip & Saw	,					\$70,170
Saw Timber FOB Mill						
Total Forestry Stumpage						\$25,383
Forestry (Total)						\$70,170
FRUITS						
Citrus						
Navels	*	2.0	421.00	842	bu.	\$11,788
Satsumas	*	2.0	226.00	452	bu.	\$4,520
Other Citrus	*	1.0	140.00	140	bu.	\$1,120
Citrus (Total)		5.0				\$17,428
Fruits (Total)		5.0				\$17,428
HAY FOR SALE						
Grass	*	672.0	0.25	168	tons	\$8,400
Hay for Sale (Total)		672.0				\$8,400
HOME GARDENS	2,890					\$867,000
NURSERY CROPS						
Floraculture & Bedding Plants	*				acre	\$115,000
Woody Ornamentals	*				acre	\$34,000
Foliage Plants	*				acre	\$42,000
Nursery Crops (Total)						\$191,000

DI ANT ENTEDDDIGEG DDODLCTION

Page 1 of 5

PLANT ENTERPRISES PRODUCTION						
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
PECANS						
Improved	*	3.0	360.00	1,080	lbs.	\$1,242
Native	*	6.0	246.00	1,476	lbs.	\$886
Pecans (Total)		9.0				\$2,128
SOYBEANS	*	325.0	32.00	10,400	bu.	\$69,160
SUGARCANE						
Raw Sugar	7	4,241.0	6,466.00	27,422,306	lbs.	\$3,345,521
Molasses		4,241.0	194.00	822,754	gal.	\$119,299
Sugarcane (Total) VEGETABLES		4,241.0				\$3,464,821
Broccoli (Fresh)	*	4.0	264.00	1,056	cartons (20 lbs.)	\$15,840
Cabbage						
Fresh	*	14.0	468.00	6,552	sacks (50 lbs.)	\$45,864
Cabbage (Total)		14.0				\$45,864
Collards						
Fresh	*	13.0	456.00	5,928	doz. bunches	\$41,496
Collards (Total)		13.0				\$41,496
Cucumber						
Fresh	*	5.0	252.00	1,260	bu. (50 lbs.)	\$12,600
Cucumber (Total)		5.0				\$12,600
Eggplant	*	6.0	446.00	2,676	bu. (33 lbs.)	\$40,140
Mustard (Fresh)	*	8.0	846.00	6,768	doz. bunches	\$47,376
Okra (Fresh)	*	12.0	290.00	3,480	bu.	\$69,600
Pumpkin (Fresh)	*	38.0	90.00	3,420	cwt.	\$68,400
Shallots	*	8.0	1,334.00	10,672	doz. bunches	\$53,360
Squash (Fresh)						
Yellow Squash	*	5.0	152.00	760	bu. (45 lbs.)	\$9,120

Page 2 of 5

PLANT ENTERPRISES PRODUCTION							
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value	
VEGETABLES							
Squash (Fresh) (Total)		5.0				\$9,120	
Sweet Corn (Fresh)	*	5.2	600.00	3,120	doz. ears	\$9,360	
Tomatoes (Field)	*	12.0	1,354.00	16,248	lugs (20 lbs.)	\$243,720	
Turnips (Fresh)	*	5.0	636.00	3,180	doz. bunches	\$22,260	
Watermelon	*	12.0	140.00	1,680	cwt.	\$10,080	
Vegetables (Total)		147.2				\$689,216	
TOTAL ALL PLANT ENTERP	RISES					\$5,379,322	

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Oysters			9,026	sacks	\$153,442
Aquaculture (Total)					\$153,442
FRESHWATER FISHERIES					
Catfish (Wild)	18		7,344	lbs.	\$3,430
Freshwater Fisheries (Total)					\$3,430
MARINE FISHERIES					
Shrimp	132		5,439	lbs.	\$6,505
Crabs	46		26,185	lbs.	\$16,811
Marine Fisheries (Total)					\$23,316
FUR ANIMALS			1,266	pelts	\$6,710
ALLIGATORS (WILD)			3,090	•	\$67,980
HUNTING LEASES	*	6,400 No. Acres		acre	\$64,000
		Leased			
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRISES				\$318,877

Page 3 of 5

ANIMAL ENTERPRISES PRODUCTION

CATTLE & CALVES Steer Calves 300-400 lbs. 13 head \$4 400-500 lbs. 70 head \$29 500-600 lbs. 125 head \$50 600-700 lbs. 21 head \$102 Steer Calves (Total) \$10 \$102 Heifer Calves \$100 \$102 Heifer Calves (Total) \$10 \$102 Heifer Calves (Total) \$10 \$102 \$100-400 lbs. 16 head \$55 \$00-700 lbs. 150 head \$56 \$00-700 lbs. \$100 head \$53 \$00-700 lbs. \$0 head \$24 Heifer Calves (Total) \$0 \$60 \$64 Yearling Cattle \$60 \$60 \$63 \$00-700 lbs. \$60 \$60 \$63 \$00-700 lbs. \$60 \$64 \$53 \$00-700 lbs. \$60 \$64 \$53 \$00-700 lbs. \$60 \$64 \$22 Yearling Cattle (Total) \$60 \$60 \$63 \$00-800 lbs. \$20 \$20 \$30		Number of	Units of	Total	Units of	Gross Farm
Steer Calves 13 head \$4 300-400 lbs. 13 head \$4 400-500 lbs. 70 head \$29 500-600 lbs. 21 head \$10 Steer Calves (Total) 21 head \$10 Heifer Calves 16 head \$55 400-500 lbs. 16 head \$55 400-700 lbs. 16 head \$55 400-500 lbs. 9 head \$33 600-700 lbs. 9 head \$33 600-700 lbs. 9 head \$32 9 head \$33 \$30 600-700 lbs. 60 head \$31 600-700 lbs. 60 head \$32 70 head \$22 \$33 70 head \$32 \$30 70 head \$32 \$30 70 head \$32 \$30 Cow-Calf Pairs 20 pair \$14 Cull Cows 70 head \$23 Cull Cows 70 head \$23 Cull Cows 70 head \$30 HORSES 7 \$30 Race Horses 7<	Animal	Producers	Production	Production	Measure	Value
300-400 lbs. 13 head \$4 400-500 lbs. 70 head \$29 500-600 lbs. 125 head \$10 500-700 lbs. 21 head \$10 Steer Calves (Total) \$10 \$10 Heifer Calves 150 head \$55 400-500 lbs. 16 head \$55 400-500 lbs. 9 head \$33 500-600 lbs. 9 head \$33 600-700 lbs. 9 head \$33 600-700 lbs. 50 head \$24 Heifer Calves (Total) \$60 head \$31 700-800 lbs. 50 head \$23 600-700 lbs. 60 head \$31 700-800 lbs. 40 head \$22 Yearling Cattle (Total) \$00 head \$23 Cow-Calf Pairs 20 pair \$14 Cull Cows 20 pair \$14 Cull Cows 25 head \$18 Cattle & Calves (Total) 8 \$20 No. Cows \$30 Horses 7 head \$28 Rece Horses \$ 7 head \$28	CATTLE & CALVES					
400-500 lbs. 70 head \$29 500-600 lbs. 125 head \$57 600-700 lbs. 21 head \$10 Steer Calves (Total) \$10 \$10 Heifer Calves 16 head \$55 300-400 lbs. 16 head \$55 400-500 lbs. 16 head \$55 400-500 lbs. 9 head \$33 600-700 lbs. 9 head \$33 600-700 lbs. 50 head \$24 Heifer Calves (Total) \$88 \$20 head \$33 Yearling Cattle 60 head \$31 \$33 600-700 lbs. 60 head \$31 \$30 Yearling Cattle \$30 \$40 head \$22 Yearling Cattle \$30 \$40 head \$23 Cow-Calf Pairs 20 pair \$14 \$14 Cull Cows 70 head \$23 \$14 Cull Cows 70 head \$23 \$14 Cull Cows 70 head \$23 \$14 Cull Cows \$25 head \$18 Cattle & Calves (Total) \$8	Steer Calves					
500-600 lbs. 125 head \$57 600-700 lbs. 21 head \$100 Steer Calves (Total) \$100 \$100 Heifer Calves 310-400 lbs. \$100 300-400 lbs. 16 head \$55 400-500 lbs. 150 head \$56 500-600 lbs. 9 head \$33 600-700 lbs. 9 head \$33 600-700 lbs. 50 head \$24 Heifer Calves (Total) 9 head \$33 Yearling Cattle 60 head \$31 700-800 lbs. 60 head \$31 700-800 lbs. 40 head \$22 Yearling Cattle (Total) \$00-700 head \$23 Cow-Calf Pairs 20 pair \$14 Cull Cows 70 head \$23 Cull Bulls 25 head \$18 Cattle & Calves (Total) 8 \$20 No. Cows \$30 HORSES 7 head \$28 Recreation Horses * 7 head \$30 HORSES 9 9 \$30 \$30 HORSES<	300-400 lbs.			13	head	\$4,724
600-700 lbs. 21 head \$102 Steer Calves (Total) \$102 Heifer Calves 16 head \$55 300-400 lbs. 150 head \$56 400-500 lbs. 9 head \$33 600-700 lbs. 9 head \$33 600-700 lbs. 50 head \$24 Heifer Calves (Total) \$50 head \$24 Heifer Calves (Total) \$60 head \$31 700 lbs. 60 head \$32 Yearling Cattle 600-700 lbs. 60 head \$32 Yearling Cattle (Total) \$60 head \$22 Yearling Cattle (Total) \$20 pair \$14 Cull Cows \$20 pair \$14 Cull Cows \$20 pair \$18 Cattle & Calves (Total) \$8 \$20 No. Cows \$301 HORSES \$25 head \$18 Race Horses \$ \$20 No. Cows \$301 HORSES \$ \$70 head \$28 Recreation Horses \$ \$ \$9 head \$9 Horses (Total) \$ \$ \$9 head	400-500 lbs.			70	head	\$29,260
Steer Calves (Total) \$102 Heifer Calves 16 head \$55 300-400 lbs. 150 head \$55 400-500 lbs. 150 head \$53 600-700 lbs. 50 head \$24 Heifer Calves (Total) 50 head \$24 Heifer Calves (Total) 50 head \$24 Yearling Cattle 50 head \$23 600-700 lbs. 60 head \$31 700-800 lbs. 60 head \$23 700-800 lbs. 20 pair \$14 Cull Cows 20 pair \$14 Cull Cows 20 pair \$14 Cull Bulls 25 head \$23 Cull Bulls 8 820 No. Cows \$10 HORSES 7 head \$28 Recreation Horses 7 head \$28 Recreation Horses 7 head \$20 HORSES 7 head \$28 Recreation Horses 7 <td>500-600 lbs.</td> <td></td> <td></td> <td>125</td> <td>head</td> <td>\$57,434</td>	500-600 lbs.			125	head	\$57,434
Heifer Calves 16 head \$55 300-400 lbs. 150 head \$56 400-500 lbs. 9 head \$33 600-700 lbs. 9 head \$39 600-700 lbs. 50 head \$39 Yearling Cattle 60 head \$31 600-700 lbs. 60 head \$31 700-800 lbs. 60 head \$31 700-800 lbs. 20 pair \$14 Cow-Calf Pairs 20 pair \$14 Cull Cows 20 pair \$14 Cull Bulls 25 head \$18 Cattle & Calves (Total) 8 \$20 No. Cows \$301 HORSES 7 head \$301 Race Horses * 7 head \$28 Recreation Horses 7 \$301 \$301 HORSES 7 \$301 \$301 HORSES 7 head \$301 Recreation Horses 7 head \$301 HORSES 9 head \$301 HORSES 9 head \$301 HEEP * 5 No.Breeding Ew	600-700 lbs.			21	head	\$10,920
300-400 lbs. 16 head \$5 400-500 lbs. 150 head \$56 500-600 lbs. 9 head \$33 600-700 lbs. 50 head \$24 Heifer Calves (Total) \$89 \$89 Yearling Cattle 600 head \$31 600-700 lbs. 60 head \$31 700-800 lbs. 40 head \$22 700-800 lbs. 40 head \$22 Yearling Cattle (Total) 40 head \$22 Yearling Cattle (Total) 20 pair \$14 Cull Cows 20 pair \$14 Cull Cows 70 head \$23 Cull Bulls 25 head \$18 Cattle & Calves (Total) 8 \$20 No. Cows \$301 HORSES 7 head \$29 Race Horses * 7 head \$29 Show Horses 7 head \$20 \$29 Heifer Cattle 5 No.Breeding \$107 SHEEP * 5 No.Breeding \$107 Ewes 5 No.Breeding \$107	Steer Calves (Total)					\$102,338
400-500 lbs. 150 head \$56 500-600 lbs. 9 head \$33 600-700 lbs. 50 head \$24 Heifer Calves (Total) 50 head \$24 Yearling Cattle 60 head \$331 600-700 lbs. 60 head \$331 700-800 lbs. 60 head \$322 Yearling Cattle (Total) 80 \$20 Yearling Cattle (Total) 20 pair \$14 Cull Cows 20 pair \$14 Cull Cows 70 head \$23 Cull Bulls 25 head \$18 Cattle & Calves (Total) 8 \$20 No. Cows \$301 HORSES 7 \$301 \$301 HORSES 7 \$301 \$301 HORSES 7 \$301 \$301 HORSES 7 \$301 \$301 HORSES 9 \$40 \$228 Recreation Horses 7 \$40 \$50 HORSES 9 \$40 \$90 Horses (Total) \$5 \$107 \$107 S	Heifer Calves					
500-600 lbs. 9 head \$3 600-700 lbs. 50 head \$24 Heifer Calves (Total) \$89 Yearling Cattle 60 head \$31 600-700 lbs. 60 head \$31 700-800 lbs. 60 head \$31 700-800 lbs. 40 head \$22 Yearling Cattle (Total) 40 head \$22 Cow-Calf Pairs 20 pair \$14 Cull Cows 70 head \$23 Cull Bulls 25 head \$18 Cattle & Calves (Total) 8 820 No. Cows \$301 HORSES 7 head \$301 Race Horses 7 head \$301 HORSES 7 head \$301 Recreation Horses 7 head \$301 Horses (Total) 8 \$20 No. Cows \$107 Show Horses 7 head \$28 Recreation Horses 7 head \$20 Horses (Total) \$107 \$107 SHEEP \$ 0. Show Horses \$ 0. Show Horses Subset \$ 0. Show Horses \$ 0. Show Horses <td>300-400 lbs.</td> <td></td> <td></td> <td>16</td> <td>head</td> <td>\$5,122</td>	300-400 lbs.			16	head	\$5,122
600-700 lbs. 50 head \$24 Heifer Calves (Total) \$89 Yearling Cattle 60 head \$31 600-700 lbs. 60 head \$31 700-800 lbs. 40 head \$22 Yearling Cattle (Total) \$60 head \$31 Cow-Calf Pairs 20 pair \$14 Cull Cows 70 head \$23 Cull Bulls 25 head \$18 Cattle & Calves (Total) 8 \$20 No. Cows \$301 HORSES 7 \$40 \$70 Race Horses * 7 head \$70 Show Horses 7 head \$28 Recreation Horses 7 head \$29 Horses (Total) 8 \$0.Breeding \$107 SHEEP * \$ No.Breeding \$107 SHEEP * \$ No.Breeding \$107 Horses (Total) \$ No.Breeding \$107 SHEEP * \$ No.Breeding \$107 SHEEP * \$ No.Breeding \$107 Show \$ No.Breeding <td< td=""><td>400-500 lbs.</td><td></td><td></td><td>150</td><td>head</td><td>\$56,545</td></td<>	400-500 lbs.			150	head	\$56,545
Heifer Calves (Total) \$89 Yearling Cattle 600-700 lbs. 60 head \$31 600-700 lbs. 40 head \$22 700-800 lbs. 40 head \$22 Yearling Cattle (Total) \$53 \$53 Cow-Calf Pairs 20 pair \$14 Cull Cows 70 head \$23 Cull Bulls 25 head \$18 Cattle & Calves (Total) 8 \$20 No. Cows \$301 HORSES 8 \$20 No. Cows \$301 HORSES 7 head \$70 Race Horses * 7 head \$28 Recreation Horses 7 \$9 \$9 Horses (Total) 8 \$0.Breeding \$107 SHEEP * 5 No.Breeding \$107 SHEEP * 5 No.Breeding \$107 Subset 5 No.Breeding \$107 Subset 5 No.Breeding \$107 Subset 5 No.Breeding \$107 Subset 5 No.Breeding \$107	500-600 lbs.			9	head	\$3,833
Yearling Cattle60head\$31600-700 lbs.60head\$31700-800 lbs.40head\$22Yearling Cattle (Total)\$53\$53Cow-Calf Pairs20pair\$14Cull Cows70head\$23Cull Bulls25head\$18Cattle & Calves (Total)8820No. Cows\$301HORSES8820No. Cows\$301HORSES7head\$70Show Horses*7head\$28Recreation Horses79head\$9Horses (Total)\$\$\$0.Breeding Ewes\$107	600-700 lbs.			50	head	\$24,375
600-700 lbs. 60 head \$31 700-800 lbs. 40 head \$22 Yearling Cattle (Total) \$53 Cow-Calf Pairs 20 pair \$14 Cull Cows 70 head \$23 Cull Bulls 25 head \$18 Cattle & Calves (Total) 8 820 No. Cows \$301 HORSES \$31 \$31 \$31 Race Horses * 7 head \$70 Show Horses * 7 head \$28 Recreation Horses 7 \$9 \$9 Horses (Total) * \$107 \$107 SHEEP * \$ No.Breeding Ewes \$107	Heifer Calves (Total)					\$89,875
700-800 lbs.40 head\$22Yearling Cattle (Total)\$53Cow-Calf Pairs20 pair\$14Cull Cows70 head\$23Cull Bulls25 head\$18Cattle & Calves (Total)8820 No. Cows\$301HORSES820 No. Cows\$301HORSES7 head\$70Race Horses7 head\$70Show Horses7 head\$9Recreation Horses7\$107SHEEP*5 No.Breeding Ewes						
Yearling Cattle (Total)353Cow-Calf Pairs20 pairCull Cows70 headCull Cows25 headCull Bulls25 headCattle & Calves (Total)8Race Horses8Race Horses7 headShow Horses7 headRecreation Horses7 headPorses (Total)7 headSHEEP*SHEEP*Store Lows5 No.Breeding Ewes	600-700 lbs.			60	head	\$31,200
Cow-Calf Pairs20 pair\$14Cull Cows70 head\$23Cull Bulls25 head\$18Cattle & Calves (Total)8820 No. Cows\$301HORSES*7 head\$70Race Horses*7 head\$70Show Horses*7 head\$28Recreation Horses79 head\$9Horses (Total)*5 No.Breeding Ewes\$107	700-800 lbs.			40	head	\$22,500
Cull Cows70head\$23Cull Bulls25head\$18Cattle & Calves (Total)8820No. Cows\$301HORSES820No. Cows\$301HORSES*7head\$70Show Horses*7head\$70Show Horses728\$107Horses (Total)*5No.Breeding Ewes\$107	Yearling Cattle (Total)					\$53,700
Cull Bulls25 head\$18Cattle & Calves (Total)8820 No. Cows\$301HORSES*7 head\$70Race Horses*7 head\$70Show Horses*7 head\$28Recreation Horses79 head\$9Horses (Total)*5 No.Breeding Ewes\$107	Cow-Calf Pairs			20	pair	\$14,400
Cattle & Calves (Total)8820 No. Cows\$301HORSES*7 head\$70Race Horses*7 head\$28Show Horses79 head\$9Recreation Horses79 head\$9Horses (Total)*5 No.Breeding Ewes\$107	Cull Cows					\$23,116
HORSES Race Horses * 7 head \$70 Show Horses * 7 head \$28 Recreation Horses 7 5 No.Breeding BHEEP * 5 No.Breeding Ewes	Cull Bulls			25	head	\$18,263
Race Horses*7 head\$70Show Horses*7 head\$28Recreation Horses79 head\$28Horses (Total)*5 No.Breeding Ewes\$107	Cattle & Calves (Total)	8	820 No. Cows			\$301,691
Kace Holses*7 head\$70Show Horses*7 head\$28Recreation Horses79 head\$9Horses (Total)*5 No.Breeding Ewes\$107	HORSES					
Recreation Horses79 head\$9Horses (Total)*\$ No.Breeding Ewes\$107	Race Horses	*		7	head	\$70,000
Horses (Total) SHEEP * 5 No.Breeding Ewes	Show Horses	*				\$28,000
SHEEP * 5 No.Breeding Ewes	Recreation Horses	7		9	head	\$9,000
Ewes	Horses (Total)					\$107,000
	SHEEP	*	5 No.Breeding			
SWINE			Ewes			
	SWINE					

	ANIMA	AL ENTERPRISES PRODUCT	TION		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SWINE					
Show Pigs			4	head	\$1,200
Swine (Total)	*	2 No. Sows			\$1,200
TOTAL ALL ANIMA	L ENTERPRISES				\$409,891
ST. JOHN PARISH	I TOTAL				\$6,108,090